
20 40 60 80 100 120 140

−
4

−
2

0
2

4

Cluster: 0043 ptr; resid: 0.34; r/c: 32/59

x.range

upstream meme PSSM #1; e=2.4e−08

1 3 5 7 9 111 3 5 7 9

x.range

y.
ra
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e

upstream meme PSSM #2; e=1.6e+04

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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11373

22418

54478

38015

8096

45510
9896 11022

12662

13537
15820

20308

232

32260

32311

33194

34732

37272

42477
43157

43171

43245

43266

43551

43587

43729

44374

45895

45908

46119

46199

48361
string −500 −400 −300 −200 −100 −1

11373−0.02
45908−0.05
11022−0.13
34732−0.15
12662−0.21
45895−0.26

8096−0.27
45510−0.36
15820−0.46
43245−0.51
46199−0.53
48361−0.65
20308−0.69
32311−0.69
46119−1.35
43266−1.35
44374−1.45
33194−1.73

232−2.49
37272−2.56
42477−2.80
38015−2.84
43551−3.15
32260−3.39
13537−3.63
22418−4.07
43157−4.24

9896−4.39
43587−5.27
43729−5.52
54478−5.80
43171−6.58

log10(P) upstream meme1 2 log10(P.clust)=−2.11; 32 seqs; 32 uniq
c(0.5, 2.5)
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